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SCIENCE / fasm™=
Class - X/&ham— X

Time allowed : 3 hours Maximum Marks : 80

fuiRa 993 : 3 gve AfFHaH 37 - 80

General Instructions :

i).
ii).
ii).

iv).
V).

vi).
vii).
viii).

ix).

The question paper comprises of two sections, A and B. You are to attempt both the sections.

All questions are compulsory.

There is no overall choice. However, internal choice has been provided in all the three questions
of five marks category. Only one option in such questions is to be attempted.

All questions of section A and all questions of section B are to be attempted separately.

Questions 1 to 4 in section A are one mark questions. These are to be answered in one word or
one sentence.

Questions 5 to 13 in section A are two marks questions. These are to be answered in about 30
words each.

Questions 14 to 22 in section A are three marks questions. These are to be answered in about 50
words each.

Questions 23 to 25 in section A are five marks questions. These are to be answered in about 70
words each.

Questions 26 to 41 in section B are multiple choice questions based on practical skills. Each
question is a one mark question. You are to select one most appropriate response out of the four
provided to you.

T o -

(i)
(ii)
(iii)

(iv)
(v)
(vi)
(vii)
(viii)

(ix)

9 UIT UF BT QT WA, 9T 7 SR 9T g H 9ieT AT § | SMYBT QI 9T b U b SR fored g |

i g arfart 2|

R T F R IS I U T8} 8 R Ua—uid bl & A vt #F Aot Tae e T 2 g7 g 7 ey
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AT T & U AT 1 9 4 & U UGh—Udh 3fd & 8| 70 Ik U &g 31qal U a19d § < |

AT T & U 8T 5 9 13 & U G-l 3Dl & €| $9d X T 30—30 &l # < T |

AT T & U AT 14 ¥ 22 & U O 3fdl & €| §7d Ik o I 50—50 Teal § < © |

AT T & U9 AT 23 25 & U UMg—Uid 3fdl & & | §9d Ik oI 70 A&l H S § |

IR § & U AR 26 ¥ 41 & U AN DI IR AETRT gfdded! e 8 | IId U U 3idh BT ¢ |
fU T AR APl § | AP I U Fad ISUYF [dbed g & |

SECTION-A / @&-'31"
An element ‘X’ on reaction with dilute acid evolves a gas that burns with a pop sound, while a
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compound “Y” on reaction with dilute acid evolves a gas that turns lime water milky. Identify

Xand Y. i@myCBSEg’ui{{& com
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Teh e ‘X’ T 3T 9 31afehan ik Tk T Scafsia shidm © it o %aﬁ@aa‘cﬁ%aafmr?ﬂﬁﬁﬁy
g ot | eIfufsran ek Tw T SAfsa war € S T %k U R g R Sd B X Y &
e |

Give an example of a metal which is the best conductor of heat.
Teh 3T=51 HOHI =TeTeh #fTg <l SET8l SifsTT |

Why is CNG considered an environmental friendly fuel ?

CNG (Hdifed wiepfeer 19) sl waferor feddt Sem o A <7 2

Name the physical quantity which is same in all the resistors when they are connected in
series.

39 ifdew Ui w1 9m fafae S g wfaligssl o 996 wd § e S 3ol w9 | gaifsa forar s
2l

When a metal X is treated with cold water, it gives a basic salt Y with molecular formula XOH
(Molecular mass = 40) and liberates a gas Z which easily catches fire.
Identify X, Y, Z.

TF 91g X I S 3UL U 9§ STUfRa U ® T T &R Y S © fEeR afiftes 3 XOH
(ATUIfeeh S = 40) B 3R T 19 Z Fiehord! € ST ST § 31 gehed! €1 X, Y, Z 1 J8e1g
qo 3HE B areht sifAfshan fafaw |

It is advised to pour acid into water rather than water to acid for the dilution of acids. Why ?

31T Wl Ahd A T I8 W99 fe S § T oret & Stat ® fiyen =nfew, 7 fob /a1 1 o1t H
Ryl fefea |

Write the balanced equation for the following reaction and identify the type of
reaction in each case.
(i) Potassium bromide + Barium lodide — Potassium iodide + Barium bromide.

(i) Hydrogen (g) + Chlorine(g) — Hydrogen Chloride (g)

1= <t Tl vt sifufsranstl o dgfera et fafiaw qen 99 areft sifufsean
% YR I Iee HiIT :

() R MRS + AW SRS - WREH AReEe + JfEH dmEe

N O

(i)  BESNH (g) + IR (g) — TESISH KNGS (g)
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8. (a) Balance the chemical equation : ]@;;WCBSEW;J& com
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Fe(s) + HyO(g) — Fe;O,(s) + Hy(g)

(b) Identify the type of reaction in the equation given below.

Na,SO,(aq) + BaCl,(aq) = BaSO,(s) + NaCl(aq)

(2) TEEfTR GHRTT Rl Hdferd ST
Fe(s) + H,O(g) — Fe30,(s) +Hy(g)

(b) = T Tl TEmEe iR § sTfufsran % YR S weente |
Na,SO,(aq) + BaCl,(aq) — BaSO,(s) + NaCl(aq)

9.  What are the final products of carbohydrates, proteins and fats after their digestion.

FEEESS , W 4T 991 o e & Y9I s o1e 3109 SIS o & 2

10. A student constructed a model of box type solar cooker. Instead of using glass sheet he used a
transparent plastic sheet to cover the open face of the box. He found that this cooker does not
function well. What could be the possible drawbacks in his model ? Explain the advantage of
painting black the inner and outer surfaces of the cooker and that of cooking vessels.

Tt BT 7 S TEY SR Feht (R-Fh) 1 e sHMET | ST hid i e & A W s
% G Hg Tl Th o T whifees F IRSE ¥ie 1 ST fRa1 | 3T I8 I foh 39t hort 37=ai
YR 9w TE I W T TP Hied H F1 Guifad A & ghdt €2 F Hi ffadt 9 Al
AR} q @HT YR & STl | HIel U2 i o FI1 7Y § 2

11. Two students perform experiments on two given resistors R; and R, and plot the V - I graphs
shown by diagram 1 and 2 If R;> R,, which of two diagrams correctly represent the situation

on the plotted curves ? Justify your answer.

Diagram -1 Diagram - 2
A A
A% Rl Vv Rz
R2 Rl
I d I >

< B & WiiEh] R, 991 R, W T d § o1 <M1 o foq fo1 1 qen 2 g ewie v - 1 ar wied
F1afER, > R, ¥, @ T2 fou T il # -1 U7 39 fearfa o6 wEt fFeTm w827 o1 S A
Tfe e
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A\ 4
A\ 4

12. In the figure below, identify the poles marked I and Q as north pole or south Pole. Give
reason for your answer.

1 feu e fo # P a2 Q g1 sifehd ¢al 1 IR gol S1YaT If&I01 ¢F o &9 H Y@ | 39 W
o faQ R |

o

13. In an electric circuit with a resistance wire and a cell, the current flowing is I. What would
happen to this current if the wire is replaced by another thicker wire of same material and
same length ? Give reason.

foreft fora aRwer s wfiig R e Sa Saifa €, 1 91 Yefed &1 @1 § | faega = =1 =8 2,
Ffe 39 gfaty ar o TaH deid Ud 99H A e & fordt 31 9 9 gfaeenfud e fean s ? s
fafau |

14. Explain why :

(@) Respiration is an exothermic reaction,
(b)  All decomposition reactions are endothermic reactions.

() When blue salt of copper sulphate is heated it becomes colourless ?
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@) IO T SoAE STfufhar €1
(b) Tt e SIfufpae et €
(©) & g il IR Hethe T %1 TH HYd § o1 98 TR 8 S 7

15 Whatis Baking soda chemically called ? Give reaction involved in its preparation. Write one

of its uses.

WA H IS TEEHE 9 H 1 gl &2 b - § g1 arell Afuferan fafed | s
ST fafgw |

16. A gas is produced when conc. H,SO, is added to solid sodium chloride taken in a test tube.

The gas coming out through the delivery tube is passed over a dry blue litmus paper and then
over a moist blue litmus paper. What would you observe ? Explain reason with the help of
chemical equation.

< el el # 2 Hifean FNEe e Sud "R H,50, W 8 @ T 9 3= 2 2
e Teft & frehem arelt 19 o1 98l Ik Al forerm w ok R et e faers v e
TN 3T R oE faerur ST qen qamfTer THiehtor o6l T | g Y&l o ROl bl AT
HIfSTT |

17. (@) Define tropic movement.

(b) Why do multicellular organisms need another means of communication between cells
besides nervous co-ordination ?

(a) TIeA TR 1 AR RIS |
(b) FEFRINERT Sfel § AR THOE & TO-WY RIS o T8 T G9R TEAH &Y

TRl T BIll § 2
18. Name the hormone synthesised at the shoot tips. How does it help the plant to response to
light ?
TRIE % AU I H Gyaifid g &1 AW fafen) og 9 % Wi S Yen § AR § R weEd
FATR?
19. Write three advantages and three limitations of using solar cooker.
TR-FehT TART T & IS A o1 qe i g fafem
20.

The following circuit diagram shows the combination of three resistors R;, R, and R;. Find
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21.

(i) total resistance of the circuit, i@ﬁ;}[C‘BSEg[{&]& com
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(ii) total current (I) flowing in the circuit and the

(iii) potential difference across R;.

4 ()

———WW—

R,

| 4

rd

+H}— €
12V

feu g, fogra wfiwe & &9 wflie®i R,, R, T R, 1 TASH 901 T8 1 6 HINC
(i) 9ftaer =1 el iy,

(i) 9Ruy ¥ yefed get & (1) a0

(iti) R, % T3 o sft" faver<
30

I 4

+H|r—

12V

3

Two identical immersion heaters are to be used to heat water, in a large container. Which one
of the following arrangement would heat the water faster :

(i) connecting the heaters in series with the main supply,
(ii) connecting the heaters in parallel with the main supply ?

Give reasons for your answer.

< gon frersteh et o1 fordl oI o= o W@ 9T o1 T i o e 3w TR S )

frfafad § 9 forg e § 9t o 7€ g ki < 31y Bt
(i) SRI 1 AN HE H HAINSA R @ Uid 9 Siied W,
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22,

23.

24.

(i)

ST I UI9d ShH H G oY & 9 9§ Siied W ? ;@;WCBSEW;J&MM
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3T ST ! HRY T e HIfST |

Explain what is short circuiting and overloading in an electric supply ?

ferega

AT T AU T ATIRT 1 €2 Ry ?

Give two methods to prevent the rusting of iron ?

Name the ores of the following metals (i) mercury and (ii) zinc

Explain, with the help of a diagram, how impure copper metal can be refined ? Label

the important arrangements in the experimental set up.

WIS W ST T BT Ak o < 9 fafa |

() "R daq  (ii) TSR o Rl o AW fafEw

3G ! FEEAl 9 W ol URwhd ki &l fafy ot saren wifgu)  geifies sgewen &
HECYUT | ol ATHITRA hiTST |

OR
How the metals at the top of the reactivity series can be extracted from their ores ?

Explain with an example.

Name any one alloy made from
(i) ametal and a non metal and
(i) two metals.

Tfshaar 4oft o ¥ T w1gsli 1 376 TR 9 fry YR F=hftia fovan ST 87 T e
ST SAREAT HITST |

frfafaa 9 o= et g w1 fafew -

() T HIg 991 Th AU q91 (i) < Egel

Draw a neat diagram of human excretory system and label the parts that :
(i) produces urine
(ii) releases urine to outside

What are the end products of digestion of fat and protein in human beings ?

THE & IS a1 bl Uh o3 fost oA1Ed 37 39k S {F ol AMish hifelg Sl :
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(i) T S Feprerd €|

TE1 T YEH & EE © 991 9l Sifad Sare = © ?
OR

Name the enzyme present in saliva. Why is it important ?
What is emulsification ?
Name the substance that is oxidized in the body during respiration.

Why are lungs divided into very small sac-like structures ?

AR A St TeH 1 AW fafae | e i Hewryl @2
SHEHTRTOT 1§ 2
oG H ITEfd B el et 1 AW ferfa )

THET BIS-BIet piumet § =i 5 2 § 2

Two circular coils A and B are placed closed to each other. If the current in the coil A

is changed, will some current be induced in coil B? Give reason.

State the rule to determine the direction of a :

(i) magnetic field produced around a straight conductor carrying
current.

(ii) force experienced by a current carrying straight conductor placed in a magnetic
field, which is perpendicular to it.

<1 AR FUST A TH B Sl TER UG- T T 7| 95 A Foeedt § o) # afied=
B & 1 9 B FUecll H hE O Wi 2?2 SR fafay |

foon 3@ @ 99 fraw fafaw .
() T HY e S 9 yarfed o S @ SHE GRS S Jrehig &1 6 |

(i) YNETE Y =T g YE fRd T 9 &I, Afc 39 JrEhE &9 ok aed W@l
ST |

OR

When is the force experienced by a current carrying conductor placed in a
magnetic field largest ?

A coil of insulated copper wire is connected to a galvanometer. What will
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26.

27.

happen if a bar magnet is : ]@myCBS@m‘Ja com
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(i) pushed into the coil ?
(i) withdrawn from inside the coil ?

(iif) held stationary inside the coil ?

() T grh &F H fRE aRems! = % W W F9 39 gN AR 9 SyE 8N

(b)  TH fogaiEl de % AR H HUSH B oo | Sl T F I ARG Th T
e

() FUee H gohed ?

(i) FHUee § s el 2

(i) FHoUSal H Bl ek X @ ?
SECTION -B/ @&-'d'

Four students were given three colourless liquids A,B,C of water, lemon juice and a mixture of
water and lemon juice respectively. After testing these liquids with pH paper, following
sequences in colour change of pH paper were reported.

(i) Blue, Red and Green (ii) Orange, Green and Green

(iif) Green, Red and Red (iv) Red, Red and Green

The correct sequence of colours observed is :

@ @) (b) (i) © (i) @ (@)

IR B ! TEH g9 A, B, C H 5d, e &1 W T& 9 TS g % @ 1 fsgor fean mon 81 g5eh
pH 0 & W40 T W pH TR & T F14 7R 95t g 918 T |

() e, @@, SR ey (i) R, 7, W

(i) &, A, A (iv) I, @, 80

HeRiPRUICo R R i

@ (@ (b) (i) (© (i) (d) (@)

Four students (A), (B), (C) and (D) separately measured the pH values of each one of the given
samples of distilled water, acetic acid, dilute hydrochloric acid, and a solution of sodium
hydroxide using pH papers.

Page 9 of 19



Student| Water |Acetic acid|Hydrochloric acid|Sodium hydroxide
(a) 7 1 1 1
(b) 7 3 1 1
(c) 7 1 1 13
(d) 7 3 1 13

Which one of the following represents a correct measurement ?

(@)

T (A), (

A

B),

(b)

B ) C

(d D

@my CBSFEguide.com
'_‘ A Complete guide for CBSE students

(C) a1 (D) 7 fST T =R T - 3gd ST, THifesk 31w, T Sgleiiiieh 377

do1 Hifeam BEgleEe faed, § Y% o pH W &l pH 95 §RI 91911

(a) 7 1 1 1
(b) 7 3 1 1
(c) 7 1 1 13
(d) 7 3 1 13
39§ fry ©F %1 719 9& T2
(a A (b) B @© C (d)

D

28. Four students performed the reactions of a dil. hydrochloric acid and a solution of sodium

hydroxide with zinc metal and solid sodium carbonate separately. They reported the possible

reaction by (v') and no reaction by (X).

Set HZl+ Zn HZl+ Ma, Ty MNalH+ Zn MalH + NapyTOy
(A) ¥ ¥ v v
(B) X X v v
() v v ot X
(D ¥ ¥ ¥ e

In which of the following sets all observations are correct ?

(@)

A

(b) B

(€ C

(d) D

IR BEI A T TEEFANE A a1 Hifead TReEe faaad & Wiy N 9 & ifedd wEie
h ST 3TET SAATHATE Tt 3R 3T Yaqvii b1 IROT-&9 H Gefera stfufsran & ferg (v) qem #

FfHfshan =& o fere (X) foran -
Set HZl+ Zn HZl+ Nap, Ty NalH+ Zn MalH + MNapTOy
() v v v v
(B) X X v v
(C) v v X ¥
() ¥ ¥ ¥ W
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(@ A (b) B © C (d D

2. A student added some copper sulphate crystals in water in a beaker and observed the colour
of the solution obtained. The colour of the solution observed by him must be :

(@) green (b) blue (c) yellow (d) pink
ol B A dieR & a1 § IR Tohe & $ fobed e ok ura faerm & &1 1 Jeror fhan)
39k G Y&T0T fohT STH Aol foered 1 31 BT =i

(@ =0 (b)  Arem ()  rem (d) e

30.  When crystals of FeSO, are strongly heated the residue obtained is

(@) red in colour. (b)  blue in colour.

(c) greenin colour. (d) colourless.

S FeSO, % foReel &1 o & o § df U 7oy 2 < |

(a) A T I (b) TRATHI () WWHN (d) TEAI

31. e
R
@
+
Hi )

For the circuit arrangement, shown above the student would observe
(@) some reading in both the ammeter and the voltmeter
(b) no reading in either the ammeter or the voltmeter
(c) some reading in the ammeter but no reading in the voltmeter

(d) some reading in the voltmeter but no reading in ammeter
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e

—H1[1| )
78 qafe e afierd uikue ¥ S o I8 a1 wam F

(a) TR qe AiceHied SHI H $® wedi § |

(b) UHIeX qer diceHied QM1 | HIE Tedieh Tai © |

() UHIEX # I Uil § W alieedied | g wgaish 78 8|

)  dceHe # HE TS § W THIeX § i Uedih T § |

32. The current flowing through a conductor and the potential difference across its two ends are
as per readings of the ammeter and the voltmeter shown below. The resistance of the
conductor would be :

200 4 5
(@ 01750 (by 1.750Q () 17.5Q (d) 175 Q
fendil =meteh @ Weltfed & qe SHeh Tadi o =it faver= 1= geie Mg THie qe sieediel &
Igiehi o STTHR €| =TT ohl Wfaie 2
200 4 5
\\\\““\ L l'""/m
N 2,
\‘\ "4”%
(a) 0.175 Q (b) 1.75 Q) (0 17.5Q (d) 175 Q

33. Which one of the following plot correctly shows the dependance of the current I on the
potential difference V across a resistor R ?
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" A o BTt o
o
®
®
(a) I * (b) I .
®
>~ o >
v Vv
A A
® ]

I . L

() . (d) "

fordt wfaliy R & foi W favaR v aor 389 yarfed o1 [ 3 woR fvdar fa o 9 fovg omw g
Hord 9 9 § yeidid gl 82

A AN
[ ]
I . I :
L J
(a) . (b) .
> = >
v '
N N
b4 e
I . I|
(© . (d) ..
v - v

O, ’
20 30 o
_@D—'\/VWWv‘v‘ _()
A
+ +3V +
IHHF() HHH )
A 3V 4

(@) 0.6 Vincircuit A and 2.5V in circuit B
(b) 0V in both circuits

(¢) 1V in both circuits

(d) 0 Vincircuit A and 3 V in circuit B

T g9 T gRgel A 9U1B H dleediedl o iedis qi
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20 30 .28,/
_CAD—A/\N\—WN _<>
A
L3V +
|HHF() HHH )
A 3V B

(a) URTA A H 0.6V aM aRug B H 25V
(b) T UREAHOV

() S ufudid1y

(d UEIAFOVIANMIEABH3V

35. For determining the equivalent resistance of two resistors R; and R, connected in series,

three circuits are shown in the figure. The correct circuits is/are :

+®— Q)=
B, -
AMAA Ry Ry N
Ry @
{H o HE—o
Q R,

IH n_—*%@"—(-)—

(@) only QandR. (b) only PandR.
(c)  All the three. (d) onlyPandQ.

goit A H HANS <1 Fialierehi R, T R, % I T A1 3 o foie i foegd afitay o 9
femmd @ &1 wiF A% o faea 1iuy wd @ (2) ?
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MAN Ry L -
Ry @
+| = —~+ +| ‘_I — (o)
Q Ry
MWW
4 B ;Rl
+ -
= H—®——-
R
@) FTAQHAR | (b) HAAPER |
() I d) FEAPTWEQ |
To determine that light is essential for photosynthesis, following are the steps, but not in
sequence :
(i)  Pluck the leaf and do the starch test.
(ii) Keep the selected plant in sunlight.
(iif) Destarch the plant for 48 - 72 hours.
(iv) Cover the leaf with black paper strip.
The correct sequence is
(@ (Gi), () @) )
(b) (i), (@), @), @)
© (@), (v), (@ @
(d) @) @) (v) (i)
* eRTST YA & TTq WeRTer eTravaeh ©7 39 fAuiftd e & WA % g =R i feu T § S e
ERCR T

() T Wfer IR W e wifse |

Page 15 of 19



37.

38.

(i) 0 % s A e Ry cmsEpidecon
(i) O T 48 - 72 T Toh W Aed AR |

(iv) O ohl ShTel TS ohi Ugl 9 BfhU |

TE HAE :

@ (@), @), (), (@)

(b) (i), (i), (iv), (i)

(€ (i), (iv), (i), ()

d @) @) (v) (i)

What is the right procedure to remove chlorophyll from a destarched leaf ?
(@) Boil the destarched leaf in lime water.

(b) Boil the destarched leaf in alcohol.

(c)  Boil the destarched leaf in water only.

(d) Boil the destarched leaf in a mixture of alcohol and water.

fordt Teritfed T 9 TR 82 1 Hel &1 F e ?
(a) TEIfEd Ul Sl T o G H SeIer

(b) TERIE U<t Fl TEehiRid | SeTerl
(c) ETeRfEd Ut sl Stel H S
(d) ETERfEd Uit Rl STa 991 Teshlalal < fagor § s

When an epidermal of a leaf is observed through a high powered microscope, it shows that
each stomata is surrounded by

(@) many guard cells. (b)  a pair of guard cells.

(c) asingle guard cell. (d) a pair of epidermal cells.

I WIfh o GeHee g fRet It ohi SRdE= 1 STacih i T I8 IR Sl © foh gee 39
(@) 3T §R - Hifrmrst gR1 fory B 7
(b) R - hIfTeR! % Teh FH gRI Torr B 2
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(d) = R & T I R o & & |

39. An epidermal peel of a leaf was observed by four students A, B, C and D under the high power
of a microscope, the following sketches were made by them. Identify the correct sketch

@ A (b) B © € @ D

IR BET A, B, C A D 7 forelt Txit < SAfe= foereh o1 U&Io1 garaei ol 3o Wie § fohan a1 ==
TUMT STTER A RG T | 378 T T ARG ! T, |

40. Given below are four different set ups to show that CO, is released during respiration.
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(A) (B)
Dry gra eeds Water
© (D)
Germina am seeds  Water Wet and geated Water
gram seeds
The set up that will give the desired result
@ A (b) B © C d D

=t =R fafve arifies srEeenst § e 3 CO, fhed! § 1 gwimn T 8 -

41.
In the experiment to show that CO, is given out during respiration. It is observed that

water rises in the bent tube. This happens because of the low pressure created in the
flask due to which of the following ?
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Seeds use CO, during respiration. l@”‘yaj ezt e
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Germinating seeds develop suction force

Germinating seeds use up the O, present in the conical flask and give out
CO, which is absorbed by KOH.

Seeds give out oxygen during respiration.

]

A 23
s, @ 7e
IhE Wi

Germinating seeds Water

Wi g1 fewm % fau & waem i § co, et B, ¥ amn T fF v § w9 7@
30 B ST o HRUT G g8 el H U = A e H ¥ ®F 91 SR 39 Yew & fau

ST B2

(@)

Tae 3R & SRA =S CO,, 1 FET F o § |

STpRa st =T 5 3 L T

AHRA st wemes H sufterd O, 1 3TN & o § iR CO, R frerend § S
foh KOH o g1 STerMfd st ot St € |

v fsran § ol Stferfis Freamfaa i ¢ |
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